Your Name: Student Number: 2

Question 2. (5 Marks) A folded cascode amplifier, similar to the one designed in the
lab is shown. All the bias voltages are shown as well. Assume Vpp = —0.9V, Vrny = 0.8V.
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a) Estimate the input common-mode range, both directions
neﬂaé“ue: nmos Von = Ves-Vr = 0.3 VJ min Vpz = 825 403=
| Vos( = 11V, minVinz ~2.2+0L10= 1V

positioe: Vo V,, fved at 2:0V (by sources of M@Mqa)
incre)ase V. to 20V +Vr = 2.8V
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b) Estimate the output voltage range both directions.

_ negative: -2V Fived by sources of M9, AZV
= VDS%M/‘I’I = 1/0}1 = 0,3‘[/ . [/0/ m.n = -1,

PO&'ﬁ‘ve:’ vzl at Vsy Lixed 5/ Spurce of M ¥
'VDS‘{-,/;M'*“ '::0,31/) 1% VO,mL?L = 4/.7V

c¢) For Cp = 2 pF, what is the slew rate?

Slew Rate = L3 _ JoOuA _ S‘OV/{AS%
| CL 2pF




